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Ex1. What is the effect of NaOH on oxides: Al2O3, CuO, P2O5, SO3, Fe2O3, SO2, CO2 oxide?

Ex 2. For solutions: NaOH, HCl, Ca(OH)2, HNO3, H2SO4. Find solutions with pH <7?

Ex 3. Please describe the method used to prepare aluminum in industry:

Ex 4. Trial to identify 2 NaCl solution, Na2SO4 contained in 2 separate vials labeled as

Ex 5. For metals: Zn, Cu, Fe, Na, Al, Mg, K. Let's sort the ascending chemical activity?

Ex 6: give a g Na2CO3 into the HCl solution, after the reaction yielded 3.36 liters of gas in the titration. What is the value of a?

Ex 7. In Cu + HCl, Mg + FeSO4, Ag + CuSO4, Cu + FeSO4, what pair of substances react?

Ex 8. To desiccate the land or farmers use any substance?

Ex 9: Reduce the amount of hemantite ore containing 80% (Fe2O3) obtained 1.68 tons of iron, the amount of ore to take?

Ex 10: For 10.5 grams of mixture of two metals Zn, Cu to excess red H2SO4 solution, 2.24 liters of gas. The percentage by weight of each metal in the original mixture is:

Ex 11: Burn the grams of iron powder in the oxygen gas to obtain 7.36 grams of solid X: Fe; FeO; Fe3O4; Fe2O3. To completely dissolve the mixture X, 120 ml of 1M H2SO4 solution (diluted) is added, resulting in 0.224 liters of H2 in the solution.

a. Write the chemical equation that occurs.

b. Calculate m?
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	Ex
	Answer
	

	1
	Al2O3, P2O5, SO3, SO2, CO2
	

	2
	HCl , HNO3, H2SO4
	

	3
	Electrolysis of Al2O3
	

	4
	BaCl2 solution
	

	5
	Cu, Fe, Zn, Al, Mg, Na, K.
	

	6
	15,9 grams
	

	7
	Mg +FeSO4
	

	8
	Quicklime (CaO).
	

	9
	3,0 tons
	

	10
	                                       %mZn= 61,9% và%mCu= 38,1%                
	


Ex 11:

  PTHH:

                        2 Fe + O2 2 FeO

                      3 Fe + 2 O2 Fe3O4

                     4 Fe + 3 O2 2 Fe2O3

                     Fe + H2SO4 FeSO4 + H2 (1)

                    FeO + H2SO4 FeSO4 + H2O (2)

                     Fe3O4 + 4H2SO4 → FeSO4 + Fe2 (SO4) 3+ 4H2O (3)

                    Fe2O3 + 3 H2SO4 → Fe2 (SO4) 3+ 3 H2O (4)

We have nH2 = 0.01 mol

The volume of Fe in the mixture X is:

According to (1) the number of Fe Feet = H2 mol = 0.01 mol = number

Mol H2SO4 in (1)

The mass of Fe is: 0.01. 56 = 0.56 g

The molar number of H2SO4 is (2), (3), (4)

  0.11 - 0.01 = 0.11 mol

According to (2), (3), (4) we see:

Number of moles of H2SO4 = number of mole of water = mole of oxide in the mixture

the oxide = 0.11 mol

The mass of the oxygen atom in the oxide is:

0.11 = 1.76 g

Applying RAP: mass of Fe = mass of oxide - mass of oxygen

                                            = 7.36 - 1.76 = 5.6 g
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